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EL 5223- MICROPROCESSORS
(For current batch students only)
Time: 2 hrs                                                                                                             Max marks: 60
This question paper has TWO printed pages and THREE parts.

PART – A
ANSWER ALL THE FOLLOWING                                                                                   10X1=10
1. How many address lines are present in 8086 microprocessor?
a) 16
b) 20

c) 32

d) 40
2. Which of the following is not true about the address bus?
a) It consists of control PIN 21 to 28
b) It is a bidirectional bus
c) It is 16 bits in length
d) Lower address bus lines (AD0 – AD7) are called “Line number”
3. Which of the following addressing method does the instruction, MOV AX,[BX] represent?
     a) Register indirect addressing mode 

b) Direct addressing mode
     c) Register addressing mode


d) Register relative addressing mode
4. Which of the following flag is used to mask INTR interrupt?
     a) zero flag

b) auxiliary carry flag flag
c) interrupt flag
d) sign flag

5. Which of the following is the correct sequence of operations in a microprocessor?
    a) Opcode fetch, memory read, memory write, I/O read, I/O write
    b) Opcode fetch, memory write, memory read, I/O read, I/O write
    c) I/O read, opcode fetch, memory read, memory write, I/O write
    d) I/O read, opcode fetch, memory write, memory read, I/O write
6. The speed of Pentium-Pro when compared to that of Pentium is
    a) equal 

b) twice

c) thrice

d) two-third

7. If the microprocessor has 10 address lines, then the number of memory locations it is able to   

    address is
    a) 512

b) 1024

c) 2048

d) 1M

8. The advantage of dynamic RAM is
    a) high packing density


b) low cost

    c) less power consumption

   
d) all of the mentioned
9. Which of the following is not a condition flag?
     a) Trap flag

b) Auxiliary carry flag

c) Parity flag

d) Zero flag

10. DAA instruction is used to perform which type of addition?
     a) BCD addition
b) Excess-3 addition

c) Binary addition
d) Octal addition

PART – B

ANSWER ANY FIVE OF THE FOLLOWING                                                                     5X6=30
11.  a) Write any six features of ARM architecture.
       b) Write a note on parallel architecture.                                                               
   (3+3) 
12.  a) Explain pipeline concept of 8086 microprocessor.
       b) Write any two features of microprocessor 8086.




   (4+2)
13.  a) Write the bit pattern of flag register in microprocessor 8086. 
       b) Explain push and pop operation in Intel 8086.                                                             (2+4)
14.  a) With an example explain Direct, indirect and indexed addressing modes.
       b) With an example explain DAA, RCL and CLD instructions.              


   (3+3)          
15.  a) Define an interrupt. Mention the types of interrupts in 8086.
       b) Describe the modes of operation in 8255.





   (3+3)

16.  a) Write any three features of Pentium pro processors.
       b) Give any three features of intel 80186.




               (3+3)
17.  a) Explain volatile and non-volatile memories.
       b) Write short note on NVRAM.


                                                        (3+3)
PART – C
ANSWER ANY FIVE OF THE FOLLOWING                                                                      5x4=20
18. Draw the timing diagram for memory write operation in maximum mode. 
19. Generate 20 bit physical address for the following.

i) IP content 455AH, CS content 2222H


ii) MOV AX, [BX] Given: DS:BX = 1010H:2020H

20. Show the status of all the flags after executing the code, and show the content of AL register 
       in each line.

              MOV AL, 88H


  ADD AL, 88H
              DAA
              SUBB AL, 77H

21. Write an ALP to subtract two 16-bit numbers.
22. Write and ALP to find largest of ten 8-bit numbers.
23. Write an ALP to find the average of ten 8-bit numbers.
24. Write an ALP to generate Fibonacci series (decimal number) for the first ten numbers.
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